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avs —u_/ SECTION-A

g1 / Objective T uest
V. ron Y [-icei-r.vmmmhﬂ;nﬂﬁﬂmﬁ-

AA) TE armfas. e (B) (& wEfre ®E
(C) TF oftds #om (D) o= sl woAr
Every point on 3 number line represents -

(A) 4 real number (B) a natural number

(€©) arationyl number (1) un irrational number

2. Prafafza & % vam By zewEa SN Ak 22

" 91

A 55 ® oo

() . 343 _ (1 =} B¢ B
21,573

Which of the following numbers has terminating decimal expansion?
" 91

(A) 200 (B) 3100

(Cy - 343__ D) None _
2153,53 tD)  None of these

3. AR NG ph-i e o 1e, 20, TN 24 TR mon ¢, 1w F —
The least number, which is perfect square and is divisible by cach 16, 20, and 24 is-
AAY 240 (B) 1600
() 2400 (D) 3600

4. T FONN @1 S ety TR e wavads T e on €] @y wEEdAT
(LCM) oo Seem warvadts (HICK) 3 o 600 8| @03 @ v 280 & Fad wmn
T -
The LOM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600, If
onc of the number is 280 then the other number is -

(A) 40 (B) RO
(€) 120 D) 20
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-s s..-
s, wwn 2341 a1 P @ vy (ol p.q iE & q+0) wwe i o ¥
q

2343 ¢an be expiessed in the form of e (. q are integers. § 20)-
1)

A 59 B Jo0
2343 2320
() 91}; (D} 999

6. ald f{x)=2x' +6x -6F U . f ¢ A -
IT a.f are the zeros of {x)=2x*+6x -6.then -

(A) a+p=af B a+f>af
(C) a+f<ap >y a+p+rap=0
7.  Yam afieo qm x+2y=5 TN Ix+12y =10 T -
(A) TFF B@ BN By ¥ e@ T e
()t A IRE T B (D) svmm aguiad €A o
The pair of linear equations x+2y=5 und 3x +12y = 10 has-
(A) umiyue solution (B) nosolution |
(Cy  mowe than one solution (D) infinitcly many solution
8. ﬁmtlﬁ'ﬂm@#m!?
Which of the following is not a polynomial?
(A) %xu (B) 2-x% 443
(C) 2 o x
x-1
9. aff 0.3x-037=037x-03, A x TTAM L -
If 0.3x -0.37=0.37x~0.3, then x has the value -
(A) -l (By -2
() +1 (D) +2
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0. 6xy aen 12xy @ wgerm s 2-
The HC.E. of 6x'yand 122y -
(A) 6!23' (B) 6x

. ::; 6y (D) 6xy

' V73x 4197y = 149 ot 1975 +173y =221, @ (x,y) BT
If
muw?y:ug and 197x +173y =221, then (. y) will be

© ..z (D) (" -1

2. qﬁmmh TN ax? —dax+ M +1=0 WW%# Ma=...

If the quadratic equation ax’ - Jax + 2a + | = 0 has repeated (equaly roots, a = ...

(A) 0
(B) /V
: 2
) 2 n) 4

3. t')-lil‘il’r'hﬁm’]mﬁqua A Wi 33 @1 7E B -
The square root of 64 divided by the cube root of 64 is -

(A) 64 By 2
«© Y D) (64)%

M. "+ DTy o (xs b & Bl -
(A) n U e yois &) (B) ‘nf&ﬁ fayw quis &)
(C) n TF oM s &) (D) n @ w8 i )
(x+1) is afactor of (<" + 1), only if -
(A) nis a positive integer (B) nisanodd integer
(C) nis a negative integer (D) nisaneveninteger

15. V10x15 awma ¢ -

JI0% V15 is equal 10 -

o(A) SV By 6V5
(C) N30 Ny V25
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16. B V31an0=135in0 &w sin?@—cos’® T & —

If V3tan® = 34in@ , then sin?@—cos’ 0 is equal 1o -
(A V3 ® 2
3
1
© - :
: 3 (D) :r:;

17. af¥ 75in’04+3c08’0 =4 W gech . cosechd TR & -
If 7sin? @+ 3c0s?@=4, then ssc 8+ cosecd Is cqual to -
2 2

(A) ;75""2 . (B) :;;"'3

() :% (D) 3-;
18. TR Scotf=3 m i’::::;:‘: —

If 5cot0=3, then :::gl;ﬁf,:ﬂ is equal to -

& = ‘(B) 3

(C) ;—'; (D) -‘i;-

19. IR sinx®=sina 7@ a. & -
If sinx®=sina, thén « is -

180 . 1
. (A) — (B) 270

270 D L
(C) m— D) 180

20. tan15°-tan20°-tan 70°-tan75° w1 A1 BIM-
The value of tan 15°- tan 20° tan 70° - tan75° -

(A) -1 (B) 2
© 0 o
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fee ud
. * ua AN B v 50
mmeuwmam{mme- il low of 3
If the inclination of Sun's ray ncrease from 43° o &, the leng
tower thcrm h). SOm. MB‘“ of the tower (inm) is -

(A 75(3-43) @ 250++3)
©) 100{3 3-1
00{y3 +1) o 5u(3 ) P —

22, W B S gy, o R Y wd @t @) o AR QR T o
The angle of elevation of the Sun, when length of shadow of a vertical pulé 18 ¢t

i"”“’ilhlis.

(A) % X
) > (B) 3
) X n

23. UE 6 41w S g @ golt or or 243 derad 2 it g T A iﬁ\‘ﬂ.ﬂ--
A 6m height pole’s shadow on the earth is 243 m long. then the Sun’s clevation I3

() 30r (D) Is° .
24, w&me;ﬁgam4mqmmmmw.waﬂmmsurnzﬂ.m

) @ Swd (Fex N) & -
A tree of 6m height castsa 4m Jong shadow, At the sume i a flag post casts a
shadow SO m long. The height of the post (in m.) is -
(A) 40 (B8) 25
(C) 15 (D) 10
25, aig QA AR Furd h, A by F 0 T FEad @ @ wen-Qg o) AR gra T

AR A B BT AR FAE 60° o0 30° & A -E— aude @ -
3

If two towers of height h; and h; subtend angle 60°%and 30° a1 the midpoint of linc

joining their bases ol lowers, then h, is -

. B
-

' (A) 3:1 (B) 1:2
© V3 (D) V2:1
[210] . Page 6 of 18

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/
https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

26. Y G A x =] WMl y-od A PreRT R WA L -
(A) UH—g8Y & oraay &
(B) Wi~ & wamrar ¢
AC) AW F-gm B AR & A Fwda R
(D) =% Fwrd 38 am ) e
Thelines x = ~land y= .4 are -
(A) perpendicular w each ather
(B parallel to cach ather
(C) neither purallel nor perpendicular to each other
(D) Nothing can be said
27. R Brger & 1 Ot & Aanrs (0, 4), (0. 0) 70 (3, 0) & T aftffy 2-

(A) 8gord (B 10 07§
_(C) g (DY 15 satd
The perimeter of a triangle with vertices (0. 4), (0. 0 and (3, 0yis -
(A) 8 Unit (B) 10 Unit
(C) 12Unit (D) 15 Unit :

28, Prama 2.K-3) #n (4,-7) A A s mm E gea 3 & A kF A #ri- »
The slope of the line joining the points (2, K-3) and (4. “7yis 3. The value of K Wi
be

(A -10 (B) -6
(C) -2 Dy 10

29, |IA Q&N x=-zm,-.-.3aﬁmﬁ=53-
The lines X =-2and y = 3 intersects at pointy-

(A) (-2.3) (B) 2.-3
€ G,-2) D) -3.2)
30. A @ Sxe3y +10 =0 T 3¢ @ W T Pr[ %1 43FA -
VA 2 By § WY
2
(C) 8§ Y (Dy 15 &
The area of the triangle formed by line 5x -3y +10 = 0 with co-ordinute axis will be-
(A) Dem (B) Sem’
T2
(€) 8cm’ | (D) 15em’
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rdmﬂﬁ

3L a3 ; |
q L]
o 1D =CD, CE = AE. ZBAD = ZCAD: £EBC = £ZEBA a R
T in #7
| w whi
N the figure i¢ BD <CD. CE = AF. ZBAD = ZCAD: £EBC = £ZEBA then which
of the f ullnwiug statement is true?
' A
I
B D C
:::: AB=BC=AC (B) AB=BC
AB
12, "Ac (D} BC#AC

r u:“’ M2 4 PQUBC, AP=23 PB =6 pQ= 3 i o BCEF ) =
N (he figure PQ I BC, AP = 20m, PB = 6cm, PQ = 3 cm then BC (in cm)=

WX B (B) 9
) 1o 12

33 AAR C 1
f'-‘ T ADEF waww &, 89 @1 Sawd 9 et 16 ad ¥ & Al EF=4.2
W A BC (Qd H) =
AABC "VADEF . Area of AABC and ADEFare 9 and 16 s4. ¢m respectively. If
EF =4.2cmthén BC (incm) =
(A) 4.2 «(B) 1.5
(C) 4.7 (D) 5.15
34, qm'em-rimm\dﬁmtﬁuﬁﬁnmﬁ}#xﬁ“«;mm@.&ﬁkmmg_
‘!‘o determine a straight line, atleast K points are required. Then K is equal 10-

1:&: 4 (B) 3
) 2 (O 1
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3. RM M R3 & DENRC, Ap =244 DB =34 AT A

37.

38.

g =160, @@ gC@A ) =

In the figure. DEI BC, Ap=2cm. DB =3 cmand AE =1.6cm then gCan
A
D E
B
(A) 1.2 C By 24
(C) 2.5 ' Dy 48

auaJ:24wmwdéﬂq§mm$mﬁw#f3ﬁ?W§'ﬁm‘ —
At 4.24 pm, how many degrees has the hour hand of a clock moved from its pos
at noon?

(A) 135° (B) 134°
(C) 133° (Dy 132°

Frlt Gomt & @ @ () @ A fasg 2 we R &-

(A) & 47 (B) d BE

(Cr Yy e (D) AR

The point of concurrency of three altitudes of a triangle is called its-
(A) incentre (B) circum-centre

(C) centroid (D) ortho centre

nﬁ‘:aﬁqﬂqm—mmmﬁqﬁt,muﬂwﬂwm{ﬁaﬁmﬂwﬁmaﬁ

[ B N
wotich each other externally. then the number of common tangent (0 t

Il two circles
circle 15 ,
GV (B) 2
(C) 3 (D) 4
39, PQRS UF FATR v e g A o n& o ;w ... TE R
[
(A) fawaam agfd (
(C) anad | ‘{D) WIEa WS
If PQRS is u parallelogram inscribed in a circle then it s not a-
(A} rhombus (g) sqr.tar:ium
(C) rectangle (D) trape
[210) Page 9 ot 16 [Turn over
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40.

MWW*NRS@WW&WOMWA@#WﬁHEml
<RP§ =

In the given figure, PQRS is a cyclic quadrilateral inscribed in a circle with center ©,
then £ZRPS =

(A) 3o (B) 05°
€ 700 (D) 80°
41, 80 ;
A% fymm T AN A 2 20 M. FUE a1 Aq B TA T ATFA AU FAT Y
SELRTER ) AT § -
Th!- Taliw of the total surface area 10 the kateral surface area F 3 cylinder with hase
radius 80 cm and height 20¢m is -
(A) |:2 (B) 2:1
) 3: . ADy S:l
2, ; ;
&?ﬂﬂmuﬁmmqﬁﬁﬁmw&mm3;4e.mna?ﬁfﬁméﬁﬂ&ri‘fﬁm"‘t
2:3. & T e &1 ST -
:I'hc fadii of the base of a cylinder and 4 cone are in the ratio 3 : 4 and their heights arc
0 the ratio 2 ; 3, then their ratio uf volumes is -
AA\) 9:8 B 9:4
) 3:) (D) 27:64
43. U@ uA T amem 274 w4 &) S g AFFA () ¥ Qm-
The volume ufycube is 2744 em®, Its surface area (in cm?) ix «
(A) 196 (B3) 588
(C) 784 (I 1176
44, qmai?mﬁm¢M$m¢aﬂ1i’lﬁ\hwm*hﬁrﬁlmmﬂmmﬂwﬁl-
How many balls, cach of rilius lem can be made from a solid sphere of feud of
radius 8 cm?
(A) 256 * {B) 512
(C) 1024 () S76
[210] Page 100! 16
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SR

LT P Sy 58

- S ¥ AN Q) W gar fenst o) & - :
meltey iy o CXtem. ) 4! 3 asertedly 18
(A) 12 A Cong of e o o intermay diameters Scm and dem respes

. ) I; Hiheter 8em, The height of cone tin cm) is -
' (B) 13
2
6. TR 10 TS ey M 1s
Mean of firgy 1w Tl oang g _
A 110 Al tumbery i
‘ ‘? 11 (B) 100
L [t Q E'I'I'._H Al @
(A) T ndfrg; R B g g -
(C} g‘f“ﬁ () g (b) {B) arr‘nﬁ ‘
The Cl'ds\ - in " Ay T ﬂg "‘ﬁ
h A terval for drawing 0give shoyld he -
420 mm_mcﬂ"pﬁ“g B) overlappin
(C) both () & (by () apping
48. mrny (x),

wifon (D) None of these
YV IR 4ghmE () 2 g 2i

| . w8 -

Mean (x), Mediun (%) and Mode (2) are rebated as

(":) K-y=3z-vy (B) x~z=Mx-y)
(©) XK-y=z-y

(D) Mx-o)=n-y
1. & U D gy 3y SO G, #8 — ) - gy Th ¢S W &) wilre @ -
In a simultancous throw of iwo coins, the

probability of getting at least one head is -+

(C)

Wi |-

(D)

0. T Ad A 6 T vom § Fory i1z 21 4N e
b FHUlT €A A urirgan @ gm 22

A bag contains 6 black and 8 white balls, One ball is dawn ot random. What is
probability of getting a white ball?

-l =

WE IreleTE WY @ Piaie Ty g0

- 3
(A) % B) 3
3
| (D) 3
©) g
Page 11 ot 16 [Tum over
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LY il

0.

aws —a_/ SECTION-FB

s
(M awyfores wye / Non - hjective i o T A
: 4
mmvrwaymm(rmwmm
x5 srx=20 3) wr aere S owved &1 '{'Jw,mrmm

I this section you heve to answer 15 short answer type question

4 long answer type questions (4x § marks = 20 marks). 27
¥ e 4 #wammﬂw#w”wdi’:gwm
Q. Wm!loﬂmwdanWﬂnﬂl.mmM’mm

Fmﬁr@ff
mmmﬁmuﬁm%mmuzmwm
Use Euclid’s division algorithm to find H.C.F. of 960 and 432,

R : - a7
Wﬁ&mﬂmmmi #1 ZeTq wAR @ia & a1 A
- 2

whether rational number :'3 has

Without actually performing the long division. State
4 terminating decimal expansion or non-terminating decimal expansion.

af2 702 p(x)=x:+x+1 T IS @ am B 4 (N o +B7 W AT TS B
If & and B are zeros of polynomial p{x)=x7 4 x +1, then find & +P°.

¥la it gm fag ) Rufd 3 RE-
5 41 ol 7 07 0 @@ FALS02, oe=y 7 M AR 5 99 ) FA DA T46 B

Form a pair of linear equation for the problem -
3 pencil and 7 pens together cost 50 ¥, where as 7 pencils and 5 pen together cost

6%.
Rig & fF 5 o ot s )

Prove /S is an irrational number.
LI f{xlzxj-px:+qx-r 3 A T;"ﬂii!r’f ¥ WS T W o B e W

(gaz & orat & @)

Find the condition which must be satisfied by co-cfficient of polynomials. such that

the sum of two zeros of the polynomial f(x)=x'-px* +qx~r.is zero,

[210]
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G
1750 Bl
7 4ajeﬁm3%rdaﬁamnmlﬂ.mmsﬂmzmﬁm

d T ®O ) @ W g Ty 5 qable 15

The cost of 4 chairs und 3 tables is T 2100, Where as thal of 3 b "
R 1750, Find cost of 3 chair and a table,

8 Af AR 131823 . wm A q e 98 &7

/ Which term of the serics 3,8, 13, [8.23....c0ueee 18 787

9. RAavREd 2r wra &
In the given figure. Find £P

A

lﬁ%@\
B '

tem C

Q 12¢m

b i C ;’J‘h
10, af AABC den ADEF: @wem &, ol AB = 1.2 9, ot DE = 14 #f, W AAD

ADEF & &F1é 1 Aqud S1d B
If AABC and ADEF are similur. such that AB = |.2¢m and DE = 1.4cm.

of arcas of AARC and ADEF-, o
O N L
11, U& ga @ (3w 43 390 & R et el {dfvan) 61 TS wad &) e 31 g g
$ d¢ A Ta W)
The radius of a cirdle’is 13cm and kength of
distance of chord from the center. | )
12. ufa 3 Amesd m)mmfafﬁwqarﬁmuwwmsﬁﬁ & Rrg = i ar
ofrar wE &
If two chords of a circle
intersection. prove that chords arc cqual,

find the ratio

one of its chords is 10cm. Find the

are equally inclined to the diametcr through their point of

13. @@ 1anA = % Al sinA.cosA T R |

¢« If tanA =%. find sinA.cosA

[2‘l 0] Page 13 0f 16 ITiwn w
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19, .. 2 2
R S0 + contdm p e sect s coec = q 1l RIE 42 = 1= .

If si . ;
Snd 4 coc = P und scc8 + cosecd = . then prove thatp? - 1= -:lp

qﬁ"““‘ﬁhm: SIRA cosB 4 cosA sinB @t sin 75° 5 T
16, g;:n":;ﬁ;; ;i‘::.-:—:?llf Fm'_& sinB M sin 75°
_ 7) 3 g i) Gl s w3
. :I:;I :::mmm between (-1. 3) and 1-5. 7). |
TR @ R R o, ) w10, y) @ 2 T8 10 T9i

;’g Find Value of y such that the distance hetween points (2. -3) and (10, y) is 10 units.

- Rgelt (6 8) i 2, 4) ot Fovart ) Ve @, Wt wi P, gt AR
" l::ﬂd the i:-‘ll'-l!l‘din:lle.'i of midpoint of line. having its extreme cadsal (6. 8) and (2. 4).

© NUWTR 7 ol amie ord (51 A aRarfg 23
" Define o types of Statistical Data
=0 WArE (g aNw) § @) aang (™) wam

Mention two characteristics (features) of Bar diagram.

2L SRiMG wear U Friraa e @) e )
g Explain ‘impossible Fyvent” und *Sure Bvent® in brief,
2. T A & wR AN @ TG S Al gz foedy
/ Give formula for representgthe happening of an event A.
Tyt &R 23 & 26 A &t o wrr &) B v & SraRE REey 81 mraaET
Q.No.23 ta 26 are long aniwer ype questions. Each question has an internal
option.
U 29 U P g8 ) ok wmm TR @ an aed &) afy &1 @ Tl 10 R /ure
e e W T oD G e A 2 ver e gl A g uld 29 @ 9 1o .
A /aver au AN ar 78 Zh N amw @ 3 oe a3 T FN 2 gz A MR
TN @ wvrdn &Y
A train covered @ certain distance at 3 wniform speed. If the wain would have heen
10km/hr faster, it would have taken 2 hiowrs Jess than the scheduled time, but if the
train were slower by 10km/hr. it would have taken 3hours more than scheduled time.
Find the distance covered by the train,

15,

2
oy
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23, () Yy - Juqr / OR
Ty I px gy . . & fone BS
| P-q@lgx—py=p+q®xauly

Solve the pai ; {2}
(ii’ mﬂ “%P::ﬂr]“hdrcqual‘lﬂﬂipx+il?=p_qmq‘_p},=p+qf0r‘dndy.
*ﬁ-‘{q ’ T‘-‘Hmhn-!by=lﬁa+2h+llW!x-y:“#mﬁ!*ﬂﬁl
ndtnb!ﬂm-iﬁxﬁﬁdﬁl @)

'“faﬂﬂdbt‘ur“-h- . . . o :
_ ich the system of lingar equations has infinite
Ilumhm‘ of M!'U‘llﬂl (a+ h] - 2h), = (53 +2b 4 l}and W - y = |4
3 712 o3 A DR 1 Be e B0 5 8 aDER) o
DA 3 & (ABFO)

In the given figure:
DE I BC and B2 23 pen fing AMADEF)

KO 3 anABFC)

C
Fgal_/ OR

24, AABC 71 ara ga1 50 BC..CA @1 AB 91 wam: D.E. o F @2 el v 2 firg
FRm

AF + 8D + CE= AE£CD + BF = :(MBC 1 <)

The in-circle of a triangle ABC touches the sides BC, CA and AB at D, E and ¢
respectively.
Prove that:

AF+BD + CE=AE+CD + BF = %(Pcrimﬂcr of AABC)

25, fag o -
Prove that -
(i) Sin A (1 +1an A) + cos A (1+ cot A) =scc A +cosec A (2)
sinO—cos®+1 _ 1 -

fn sin0+cos0—1 secO—tand
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2 L/ OR
) B L T R S ——— Y R
mma}m“‘um?“m O T P ag° @ T & A P RIS
W Y
it Standing on the bank of a river. ohscrves that the angle of elevation of the
::'n :f h: ::I. Standing on apposite bank is 60°. When he moves 40 away from the
% Srn Q: l’ac angle of elevation 10 be 30°, Find the Widilof the river.
1 1R v ::1 3¢ﬁﬁ’ra A A rl'l formaR £ A FLe suh T NETITR
' 24 IMEev @ w0 WE A A Fwd e G 16 Tnfer & ad

ST THIN B 753 dwea o) o Ry

The cany NS 9 cb J .
S of a circus has height 11dm (decinietre) in cylindrical section ind above

1L there is o conical shape. The inaximum height of canvass is 16 decimetre and the
diamcter of canvass is 24 decimetre, Evaluare the totol arca of the canvass.
Huar_/ OR
26. TF s (4) O frem g S g LA 43 B QiTER IR T w154 A R
T 8T B AV T FY
The radius and bheight of a cone are in the ratio 4:3. The area of base is 154 cm’. Find
the area of curved surface.

fder S ov sie gerat siifsfaus
Y U, Ales Uue, 3fide-6l,

UISehd, siled, il ¢ee, Ae-311 3

HfaR e udtel uss u= 3nfe & fAe...
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